a. Endometrial Thickness

SIDENAFIL CONTROL Mean Difference Mean Difference
Study or Subgroup Mean SD Total Mean SD Total Weight IV, Random, 95% CI Year 1V, Random, 95% CI
DEALYED START
Fahmy AA et al 2015 10.36 1.4 35 941 1.74 35 20.3% 0.95[0.21, 1.69] 2015 ——
Reddy LP et al 2016 9.64 1.8 40 847 23 40 19.0% 1.17 [0.26, 2.08] 2016 — &
Mohamed TY. 2019 12.7 0.8 20 98 1.1 20 21.4% 2.90[2.30, 3.50] 2019 —
Subtotal (95% Cl) 95 95 60.7% 1.70 [0.36, 3.03] —~atl—
Heterogeneity: Tau? = 1.24; Chi? = 19.62, df = 2 (P < 0.0001); I> = 90%
Test for overall effect: Z=2.49 (P = 0.01)
START WITH STIMULATION
Kortam MAMF et al 2018 98 17 45 84 12 45 213% 1.40[0.79, 2.01] 2018 —=—
Vardhan S et al 2019 9.38 2 40 9.06 26 40 18.1% 0.32[-0.70, 1.34] 2019 — &
Subtotal (95% CI) 85 85 39.3% 0.94 [-0.11, 1.99] .
Heterogeneity: Tau? = 0.40; Chi? = 3.19, df = 1 (P = 0.07); I = 69%
Test for overall effect: Z=1.76 (P = 0.08)
Total (95% Cl) 180 180 100.0% 1.39 [0.50, 2.28] ‘
Heterogeneity: Tau? = 0.87; Chi? = 28.60, df = 4 (P < 0.00001); 12 = 86% 4 2 ; 2 j,r
Test for overall effect: Z = 3.06 (P = 0.002) CONTROL SIDENAFIL
Test for subgroup differences: Chi2 = 0.76, df =1 (P = 0.38), 2 = 0%
b. Chemical Pregnancy Rate

SIDENAFIL CONTROL Risk Ratio Risk Ratio

Study or Subgroup Events Total Events Total Weight M-H, Random, 95% CI Year M-H, Random, 95% CI
DEALYED START
Fahmy AA et al 2015 23 35 14 35 30.1% 1.64 [1.03, 2.63] 2015 - &
Reddy LP et al 2016 26 40 17 40 36.7% 1.53[1.00, 2.34] 2016 L
Mangal S, Mahirishi S. 2016 10 50 7 50 8.6% 1.43[0.59, 3.45] 2016
Mohamed TY. 2019 11 20 3 20 54% 3.67 [1.20, 11.19] 2019 »
Subtotal (95% Cl) 145 145 80.7% 1.65 [1.24, 2.20] i
Total events 70 41
Heterogeneity: Tau? = 0.00; Chi? = 2.24, df = 3 (P = 0.52); I? = 0%
Test for overall effect: Z = 3.42 (P = 0.0006)
START WITH STIMULATION
Kortam MAMF et al 2018 8 45 5 45  6.2% 1.60[0.57, 4.52] 2018
Vardhan S et al 2019 14 40 9 40 13.1% 1.56 [0.76, 3.18] 2019 T
Subtotal (95% CI) 85 85 19.3% 1.57 [0.87, 2.83] el
Total events 22 14
Heterogeneity: Tau? = 0.00; Chi? = 0.00, df = 1 (P = 0.96); 12 = 0%
Test for overall effect: Z=1.50 (P = 0.13)
Total (95% Cl) 230 230 100.0% 1.64 [1.26, 2.12] <l
Total events 92 55
Heterogeneity: Tau? = 0.00; Chi2=2.24, df =5 (P = 0.81); 2= 0% 012 015 J é é

Test for overall effect: Z = 3.74 (P = 0.0002)
Test for subaroup differences: Chi?2 = 0.02, df =1 (P = 0.88), I? = 0%

CONTROL SIDENAFIL



